[ A # )
SH6EE BEHEMGEU—EABREEEEWE BERXR
1808 $£2HH
% B SM7E28198 (XK) SM7E2A208 (K)
2 f+ 9:15~9:45 9:00~9:30
B 9:45~15:40 9:30~16:10
9:00
9:15 = 1T
= f 9:30
9:45
B #-AUTrF—iav
10:00
[bEERE Y —C LR FESAY—E RBROBYHD]
~REERY—CABRFOMEERIONT ~ | EREEBLURITAT AT~ (1205)
(#67) WOBEEHLE NEERT e
. TE AOE 158 K (8EF) BAENEIEEE ML XK
7 Ea
11:10
[N BHBEICHITDHFEEE] (60%)
11:30
[EET] LWEADHSERRSBELTEBER
BEHSRERYBELT B BEF K BRE-KH#
o 12:10 12:30
15 BRE-{kE
71 13:10
EYLET—ERBHOHYFR]
/l;[ ~ Rik- - ERZOEE ~ (1205)
5 FEEIEY—E REBEOBYHD] [FEEM) SRENMENGEIREE fL ZFE K
I ~ A\MBR-F—LTT-HT7TS5oDERSE ~
(150%)
14:30
(#67) RMENEIEEE L— #RE ® =
14:40
I Hhish # a8 5 —E RO B A
15:40 ~ RRBELEREE ~ (9052)
(REE] )
-SRAME RIS R S E A SE N R
FHREIBNESEHEY V—TR—LBEIH
EEE ZH EREK
- SRANE XIS BB AR N S B £
ETTAH—EREE EEE L— #RE
JJAREYR—~UAKKX S
JANEESHEESVIETR WH BF K
(# 7]
RN EREEE MU 2E
16:10
£ #
16:30
IWARESF—1—- #HEEUAHESE HEBIULTHESE
£
WwATM#E=81062




